SPACE FOR ROUGH WORK / #=%m ¥ fird e

—— rap— r— Pyepr—
| ¥ 2 vl ¥ — 9w Wi o et wfe, whven s W e 4 SR |
rxxawmamﬁ%,wmwmmﬁmaﬁﬁwmmm
| o o o o o, P o R g R A A R AR

_examination. Candidate will be Jiable for it.

s =X qhEr ) A | wheaedt el i H oo Wy | sl

)] AN | | »

S\
N
N

g gitdenr  [E =,
QUESTION BOOKLET [wjrfiy
E&’Tﬁm = &) Number_o}QuestiOn; in Booklet : 150

yya gitest
Question Bookiet Number

i1 3 95 %1 GeqT / Number of Pages in Booklet : 16
&7/ Time : 3.00 52/ Hours

ot/ Maximum Marks : 100

INSTRUCTIONS :-

- Please correctly fill your Roll Number in O.M.R. Sheet Candidate will themself be responsible for filling wrong Roll No.
.. At the start of the examination before attempting the question paper kindly check your test booklet and OMR Answer
Sheet and ensure that : ’ : .
The serial numbers of test booklet and OMR answer sheet are same.
All pages of test booklet and OMR answer sheet are properly printed. All questions from S.No. 1 to last S.No. 150 are
printed and pages from S.No. 1 to iast S. No. 16 are there in the question booklet. ‘
In case of any discrepancy / defect the candidate shouid immediately report the matter to the invigilator for replacement
of test booklet and OMR answer sheet. No claim / objection in this regard will be entertained after five minutes of start of

. Answer all questions.
All questions carry equal marks.
Only one answer is to be given for each question. .
If more than one answers are marked, it would be treated as wrong answer.
Each question has four alternative responses marked serially as (A), (B), (C), (D). You have to darken only one circle
or bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN. .
113 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect
answer or more than one answers for any question). :
Use of Mobile Phone/Bluetooth Devices or any other electronic gadget in the examination hall is strictly prohibited. If
any such prohibited material found with any candidate, strict action will be taken against him/her as per rule.
10. If there is any sort of ambiguity/mistake either of printing or factual nature in Hindi and English Version of the question,
the English Version will be treated as standard.
Warning : If a candidate is found copying or if any unauthorized material is found in hisfher possession, F.LR. would be
lodged against him/her in the Police Station and he/she would liable to be prosecuted under Section 3 of the State
Prevention of Unfair means Act. 1992 and Board Reguiations. Board may also debar him/her permanently from all future
examination of the Board : :

wmﬁawaﬁ,@.mmwmﬁ*ﬁmﬂﬁsﬁtmﬂawnﬁwqﬁ&mﬁmﬁﬁﬁaﬁ%ﬁx
SR~ B9 o @ e vl YR 91 6 9o gRe T sham e ST i Hel- ik St 9 a8 giifea w3 R

TA-U QRGHT U SILUH.STR. STROEE % FUIE OF 9O ¥ ,

ST Gt O SR, SR % Wl U o 90 g ¥ wwwn F v 1 9 thm s 150 o6 @ v
IR fid § o it 73 %R 1 @ 16 7 deg ¥
‘ R |t o S|
| avedf ot €0

. % T 1 Fee O & SR S .
Tk QA I 3 A g § W SR W Tem Ao s . ‘
YOI 99 % R Sewfers Iw A T E R s (A), (B), (C), (D) siftra fore e €1 a1l @Y W SR Fifds
mgqmﬁ‘ﬁ%aa@vﬁammﬁmmwmwﬁﬁam@ﬁqﬁmm%t ,
Vel TIRTd IO T U 3T T 1/3 STFT SRTET STENTI | el ST § o1l o[ 97RO FFelt o % o @ ot s T
W@ww@aﬁvms@a@ﬁmﬁawmﬁaﬁmwaﬁa%u'aﬁ%@mﬁ%w"&ﬁ‘wﬁﬁ
afifn wmh e & o s freg 9 g0 FEEER SR w9 o |
10. 3R FFf o 5 et STISR T & el T ohY RIS TRT o1 TR e I ) o S S ST TRy WR 2N |
%ara:ﬁ:mﬁ&wﬁwmﬁmm%mw&w@aﬁs‘mﬁzﬁmwm%,-mamﬁé:ﬁwgﬁw
A gt o g st ol T sryfrm w2 e st 1992 %! gr1 3 Td =1 TRV % ed SRR
1 ST e S O szl A ufee ¥ @ Al A A e gl A fakh W w3 ‘

0 N |

LDC EXAM 19-08-2018 (SECOND PAPER)

—

is test booklet until you are asked to do so.

WWWW?W l/Donoi:openth

@

R

[PT.O.




Select the most appropriate determiner :

There was not food in the
house.

(A) little (B) more

© enough~ (D) much

Fill in the blank with the correct determiner
from the options given below :

The scheme was closed because
people were interested in it.

(B) a few
(D) none

(A) few
(C) a little

Fill in the blank ‘with the suitable

preposition :

 There is a wall the house
and the tree.
(A) under (B) in

 (C) between (D) after

. Choose the correct preposition :

My younger sister was born
- the eve of Diwali.

(A) at
(C) on

B) in
(D) by

Choose the correct preposition :

This is an house product.
It isn't sold in the public.

(A) at (B) in

(©) on D) to

Fill in the blank with the correct
preposition from the options given below :

Don't walk the railway line.
(A) among (B) out :
(C) of (D) across

0] XA

Choose the correct English translation of |
the following sentence from the options

given below :

TS W |

(A) She is running.
(B) She has run.
(C) She may be running.

(D) She was running.

Choose the correct form of Passive
Transformation of the sentence given:

The Vice-Chancellor kept the staff
members waiting. :

(A) The staff members were waiting for
the Vice-Chancellor.

(B) The staff members are kept waiting

for the Vice-Chancellor.

" (C) The staff members were kept waiting

by the Vice-Chancellor.

(D) The staff members were being kept
waiting by the Vice-Chancellor.

Choose the correct English translation of

the following sentence from the options

given below :

A Qo g A e T o g

(A) The train had been left. before I
reached the station.

(B) The train had left before I reached

the statlon .

(C) The train left already when I had

reached the station.

(D) The train has left when I had reached

the station.

[PTO.
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11

12

13

Choose the correct option given below

Ranveer asked what her name was.
(Change into Direct)

(A) Ranveer said, "What was her name?"
(B) Ranveer said, "What is her name 2"
(C) Ranveer asks, "What her name was?"
(D) Ranveer asked, "What is her name."

The Principal said to the students,
"Where were you yesterday 7"
(Change into Indirect)

(A) The Principal told the students where

were they yesterday.
(B) The Principal asked the students
where they had been the day before.
(C) The Principal asked the students
where they were the day before.

(D) The Principal asked to the students
where they had been yesterday ?

Change the following sentence from direct
to indirect speech :

- He said, "Alas ! I am undone."

(A) He said sadly that he was broke.
(B) He said sadly that he was undone.

(C) He exclaimed sadly that he was
undone.

(D) He exclaimed sadly that he was
broke.

Choose the correct negative transformation
of the assertive sentence given below
without changing the meaning :

Brutus loved Caesar.

(A) Brutus had no love for Caesar.

(B) Brutus was not without love for
Caesar.

(C) Caesar too, had no love fof Brutus. |
(D) Brutus and Caesar both, had no love

for one another.

01 A
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14  Choose the correct assertive form of the

15

16

17

 following sentence from the given options :

Tomorrow is not a holiday.
(A) Tomorrow will be a holiday.
(B) Tomorrow shall be a holiday.
(C) Tomorrow can be a holiday.
(D) Tomorrow is a ho_liday.

Change from Assertive to Negatlve :
He is cleverer than me.

(A) I am not very clever.

(B) I will not be as clever as him.
(C) I am not as clever as he is.
(D) I am not as cleverer than him.

Choosing the correct option, change the

following sentence into Assertive without

changing the meaning :

Shyam has promised never to touch hard

drink again.

(A) Shyam has promised to touch hard
drink again.

(B) Shyam has promised to abstam from
hard drink in future.

(C) Shyam has not promised to touch
hard drink in future.

(D) Shyam has never promised to touch
hard drink again.

Change from Interrogative to Assertive :

Who can be expected to submit to
injustice? : ‘

(A) Anyone can be expected to submit
to injustice.

(B) No one can be expected to submit
to injustice. ,

(C) No one should submit to injustice.

(D) Nobody could submit to injustice.

. .. [PTO.
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19

20

21

22

Choose the correct Hindi translation of
the following sentence from the options
given below :

You should do your work.
(A) S9H! HH &TN =R |
(B) B ST FH FTU GRT I

o T w O %nﬁ:q -

Fill in the blank with the correct optlon

She must herself to her new
surroundings.

(A) adopt (B) adapt

(C) adept (D) adjure

Fill in the blank with the correct. optlon

Either the boy or the girl

at fault.
(A) were (B) are .
(C) was (D) have been

Choose the incorrect option :

Connectors join together

‘ (B) words
(D) prepositions

(A) sentences
(C) phrases

23

24

25

26

Choose the correct option for the
underlined part of the sentence :

The man whom I sold my house Wasa

 cheat.

(A) to whom I sell
(B) to whq I sell
(C) to who 1 sold
(D) to whom I sold

5] A

28

Choose the correct Hindi option :

Disclaimer .
(A) srwEfy ®B) srde
(C) T (D) st
Choose the correct Hindi option :
Inflation .

(A) Wi (B) STIEhIfd
© weRfys  (©) I

Choose the correct Hindi option :
Affidavit

(A) aftfire
©F

(B) T@RES
(D) @9

Choose the correct alternative for |

translation of technical terms :

forell =R
A) Butte,rﬂy Trade

- (B) Brand Business

(C) Extractive Trade
(D) Foreign Trade

Which of the followmg is the synonym
_ of POMPOUS ? .

B) Pfetenﬁous .
(D) Unaffected

(A) Modest
(C) Humble

Which of the following is the synonym

of PRIMITIVE ? ’
(A) Prehistoric (B) Sophisticated
(C) Refined (D) Modern

[PT.O.
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Change from assertive to interrogative :

It is extremely foolish to waste time in
reading trash.

‘ (A) Why waste time in reading trash

. books.:

_(B) Why should one waste time in reading

trash ?

. © Why waste time invreading trash ?

30

(A) Everybody will help a

(D) Why should we waste time and read

trash ?

Choose the correct option for Interrogative

to Assertive transformation of the sentence

given : .
Who will not help a2 man in distress ?

distress.

: _(B) No one can help a man in distress.

31

(C) Everyone help a man.

(D) In distress, everyone should help

Choose the correct option changing the

'followmg sentence into Assertive : ,’
- Shall we ever forget our freedom fighters?
- (A) We shall ever forget our freedom

_ fighters.

. (B)' We shall never forget our freedom

fighters.

(C) We shall not forget our freedom
 fighters.

(D) We shall forget our freedom fighters.

Choose the correct assertive form of the
following sentence from the options given

: below :

How attractive the picture is !

| (A) The picture is quite attractive.

(B) An attractive picture is there.

© The picture is very attractive.
(D) The picture is only attractive.

| ;50:] 5#

33

man in|

36

| e

Change from assertive to eXclamatory.
The sunrise is very beautiful.

(A) The sunrise is awesome !

(B) How beautiful the sunrise is !

(C) The sunrise is absolutely beautiful !
(D) The sunrise was good.

Choose the correct transformation from
assertive to exclamatory :

I wish I knew more people.

(A) If 1 could know more people !

(B) If I would be able to know more
people !

(C) I wish to know more people !

(D) If only I knew more people !

Choose the correct eXciamatory form of
the following sentence from the optlons
given below :

I wish I were a clown.

(A) I were a clown !

(B) If only I were a clown !
(C) I think I was a clown !

(D) What a clown I were !

Choose the correct article :
Why are you Iookmg at

sky ?
(A) a (B) no article
(€C) an (D) the

Choose the appropriate article given in
the options :

Neil Annstong was first
man to walk on the moon.
(A) a (B) an - _A
© the (D) zero article

[ PT.O.



38  Which one of the following suffixes can
be added to the word below to form a

new word :

Infant

(A) _ dom B) 1y
{0 g @ i

39 Fill in the blank with the correct option :

They generally the time-

table every year.
(A) aliter
(C) halter

(B) altar
(D) alter

40 Fill in the blank with an appropriate word
from the options given below :

He couldn't the cold.
(A) bare (B) beer
(C) bar (D) bear

41  Fill in the blank with an appropriate word
 from the options given below :

The captain the final charge
in the battle. ' :
(A) led (B) lead
(©) laid (D) lied

42  Fill in the blank with an appropriate word
from the options given below :

The of the new medication
was loss of appetite

(A) affect (B) effect
(C) affect was (D) effect was

Read the following passage and answer the questions
that follow : (43 to 48)

People talk of memorials to him in statues
of bronze or marble or pillars and thus they mock
him and belie his message. What tribute shall we
pay to him that he would have apprecxated 7 He
has shown us the way to live and the way to die
and if we have not understood that lesson, it would
be better that we raised no memorial to him, for
the only fit memorial is to follow reverently in the
path he showed us and to do our duty in life and
m death.

He was a Hindu and an Indian, the greatest
in many generations, and he was proud of being
a Hindu and an Indian. To him India was dear,

certain immutable truths. But though he was intensely
‘religious and came to be called the Father of the
Nation which he had liberated, yet no narrow
religious or national bonds confined his spirit. And
so he became the great internationalist, believing
in the essential unity of man, the underlying unity
of all religions, and the needs of humanity, and

the poor, the distressed and the oppressed millions
everywhere. ' :

43 About whom is the passage v%zritten ?
(A) Jawahar Lal Nehru
(B) Mahatma Gandhi
(C) APJ Abdul Kalam
(D) Mrs. Indira Gandhi

44 We can pay to him real tribute by
(A) Raising memorials

(B) Following the path he showed and
doing our duty

(C) Making his statues of matble
(D) Belying his message '

501 W

6 . [PTO:

because she had represented throughout the ages (

more specially devoting himself to the service of

48  Give one word for 'subject to harsh and

45 Why is he called he great internationalist ?

(A) Because he was a Hindu and an
~ Indian.

(B) Because he was a religious man.
(C) Because he was the father of Natién.

(D) Because he believed in essential umty

of man and religion.

46 Choose the word that can replace the

underlined word in the passage.
(A) Eternal

(B) Historical

(C) Unimaginable

(D) Unbreakable

47 What great lessdn did this great man
show us for life ?

(A) To become a religious man
(B) Service of poor
(C) The way to live and the way to die

(D) Unity of all religions

authoritarian treatment' from the passage.
(A) haressed
(B) belie

(©) oppressed

49

S0

s1

52

53

(D) depressed

501 XAE o 7
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Choose the correct option :
Notices should be

(A) brief and formal

(B) long and wofdy

(C) short and informal

(D) indirect

Choose the correct option :
When we begin a letter with 'Dear Sir'

~ or 'Dear Madam' or 'Dear Sir / Madam',

we end it with ......
(A) yours faithfully
(B) your faithfully
(C) your's sincerely
(D) yours lovingly

Which of the followmg should be aVOlded
in official letter ? /

(A) clear details /
(B) polite words "

/

(C) jargons
(D) formal words

Choose the correct option :

The language in a tender should be
(A) wordy and difficult to understand
(B) informal

(C) objective and very clear

(D) ambiguous :

Choose the correct translation of the

following word from the options given
below :

Globalization .
(A) FHFBTO
B) FfiTo
(C) TTEHT
(D) sFHW

[PT.O.



54

55

Fill in the blank with the correct form of
the 'verb given in the bracket :

The ship (sink) in the ocean
yesterday. »

(A) sink (B) sunk

(C) sank (D) sinking

Fill in the blank with the correct tense

of the verb given in the brackets Choose

They (buy) vegetable last
/ week
~ (A) bought B) buys

(C) have bought (D) buy |

56

57

58

s0] ¥

Choose the correct form/tense of the verb
from the options below to fill in the
blank : _

The teacher said that oil

(float) on water.
(A) floated. (B) float ;
Cy (D) had floated

Fﬂl in the blank with the correct optlon
It's time you to bed.

(A) go
(€) went

(B) gone
(D) will go

Choose the correct passive voice of the
following sentence, from the options
below :

Anita saw a picture.
(A) A picture was seen by Anita.

(B) A picture is seen 'by Anita.

(C) A picture has been seen by Anita.

(D) A picture had been seen by Anita.

59

60

61

62

Choose the correct passive voice of the

‘followmg sentence from the options given

below :

They speak Punjabi.

(A) Punjabi was spoken by them.
(B) Punjabi is spoken by tﬁem.

(C) Punjabi will be spoken by them.

(D) Punjabi has been spoken by them.

Choose the correct form of Active
Transformation of the sentence given:

The skyscraper was engulfed in fire.
(A) The fire engulfed the skyscraper.
(B) The fire had engulfed the skyscraper.

(C) The fire has engulfed in the
skyscraper.

(D) The fire has been engulfed in the
skyscraper.

Choose the correct option given below :

1 am known to Mrs. Seema.

(Change into Active)

(A) Mrs. Seema knew me.
(B) Mrs.
(C) Mrs.
(D) Mrs.

Seema knows me.
Seema is known to me.

Seema is known by me.

Choose the correct option :

"Don't go there," He said.
(Change into Indirect)

(A) He said don't go there.

| (B) He told them not to go there.

(C) He told them not go thefe.

) He said them not to go there.

[PTO.
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63 Choose the appropriate synonym of the

64

65

66

67

68

s0] AF

given word :

Minimum
(v ik (B) Lowest "
(C) Wanting (D) Lack™

Sk

Choose the correct synonym of the |

following word from the optlons gwen

Coward e
(A) brave

(C) dashing

(B) milksop
(D) strong

Choose the correct antonym of the
following word from the OptIOIIS given
below : -

Stupid
(A) dunce (B) cleve;i::::s
(C) dull D) sad

In the following questions choose the

word which is the exact opposxte of the
given word : e

69

70

71

72

Enormous .
(1) ~oft B) Average
(C) Tiny (D) Weak

What is the antonym of OBSBLETE 2

(A) old ®) Outdatéa
(C) Extinct

(D) Contemporary

ot

Choose the correct antonym of
LECHEROUS
(A) lustful . (B) lewd
(C) chaste (D) carnal -

75

Government run by people is called :
(A) Democracy  (B) Monarchy
(C) Autocracy (D) Bureaucracy
Something kept as a reminder of an
event : ‘
(A) Biography (B) Award
(C) Souvenir (D) Priz
7 Choose the correct one word substitution
from the given options :
The study of plants
(A) Biology (B) Zoology
(C) Botany (D) Geology
Choose the correct alternative which can
be substituted for the given word/
sentence : ‘
Murder of a king
(A) Regicide ‘ (B) Matricide
(C) Parricide (D) Uxoricide
Which one of the following suffixes can
be added to the following word to form
a new one
Paint
(A) _ er ® Y
(C) _en (D) ion
Which suffix can be added to the word
- 'peace’ to make a new word ? '
(A) ing ®) ful
(C) est (D) ed
Choose the correct word :

The teacher reprimanded her for her
- (conduct).

(A) misconduct  (B) nonconduct
(C) overconduct (D) unconduct

[PTO.
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78

79

80
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‘Rajiv began to praise Sanjiv’ TR @

et orgae e -
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81

82

83

84

85

10

86

fopg g & wuw ug Rgw @wiE) T

i we fad=r (Swm) sar ¥ 7
(A) Sgdil gurE :
(B) ®HURA @@
(C) 7 WIEW T
(D) ¥R Yoy THE

ﬁwﬁf@aﬁﬁ‘ﬁtwﬁ%w&m
%_

) Frie
(©) Tt

B) Fry
(D) P

Preffas & & f5d o ¥ o v

EEE |
(A) 3i%® (B) %
(D) 9%

(C) T

Pt e % o g e ¥ 7

(A) wHE, H9d, darex
(B) WEGT, Wi, T
(C) ®rmar, o=, HA
(D) fig g, gwrgen, Ay

‘e = B Rl o= Ry -

(A) T ®) P

(C) sT@ (D) ST .

TAT 9% % I TR BT Sfua e
T — ,

(A) o5, g, T

. (B) g&, T, sEd
 (C) U=, amtl, &g

(D) g, I, auE
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103 FE® SUST @A T A ey & o } 109

UF S H T BT |
(A sfdm (B) afEeEm
(C) o= (D) e

104 ‘geam REwr

et m e | . .
| (D) W@ F S @ AT AE T L

(C) ST%T“*F

108 We purchased clothes and sold books
g & g R s R -

(A)mmaﬂ%afﬂgw%ﬁl

fesar 1 . 11
© = 7R wha o & F=W ¥ 0 |

; (D) T ¥ B T | .
0] W 2
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